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N 1T i) 85 96 181 83 84 96 180 83 1 0 1 0
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= 7 T 171 200 371 141 173 202 375 142 2 2 4 1
L il iing 111 124 235 79 114 126 240 80 3 2 5 1
N 1T iing 395 429 824 311 396 429 825 312 1 0 1 1
S A v a1 340 339 679 253 340 339 679 253 0 0 0 0
MERFWRTAESE] 1017] 1092 2109 784] 1,023| 1,096 2119 787 6 4 10 3




/M ORTHIA DB FOHEL—FER (EREAGRREAD)

a4 1643 H 1 H BiAE _ 1644 H 1 B BifE SR

7 5§ i ] B 5§ i [ B LS it %
ZE| x my 457 488 945 383 455 486 941 385 -2 -2 -4 2
b, = N = N 0 0 0 0 0 0 0 0 0 0 0 0
KEFHE — T H 208 216 424 183 211 221 432 187 3 5 8 4
KREHFHE — T H 400 427 827 396 399 427 826 392 -1 0 -1 -4
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A ) i 94 98 192 68 94 98 192 68 0 0 0 0
7 H] iif) 35 27 62 21 35 27 62 21 0 0 0 0
¥ F & 2 1018 1108 2126 804 1020/ 1102 2,122 805 2 -6 -4 1
v 2l i 149 178 327 139 148 179 327 140 -1 1 0 1
i 5 BT 117 118 235 95 117 117 234 95 0 -1 -1 0
VE R Vg T — T H 238 239 477 242 239 239 478 244 1 0 1 2
R — T H 264 287 551 236 263 282 545 236 -1 -5 -6 0
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1L 5 i 38 52 90 36 38 52 920 36 0 0 0 0
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Hh bk BT X X X X X X X X X X X X
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